	Math MCU
	Worksheet – Exam Review 1


1. The Party Stuff Store sells all-in-one party kits for all types of different occasions.  During the month of December, the store began with 1500 party kits in stock and sold an average of 40 kits a day.  During the month of January, the store began with 1000 party kits in stock and sold an average of 20 kits a day.  Which of the following best describes this situation using a system of equations? (
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: # days passed, 
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: # of party kits left in stock)
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2. Consider the following diagram showing parallelogram ABCD.  Which of the following statements best justifies why 
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	A)
	Corresponding congruent alternate interior angles
	C)
	Opposite angles in a parallelogram are congruent

	
	
	
	

	B)
	Congruent vertically opposite angles
	D)
	Corresponding congruent alternate exterior angles


3. Consider the system of equations shown below.  Which of the following best describes the type of solution obtained from the system of equations?
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	A)
	The system has no solution
	C)
	The system has two solutions

	
	
	
	

	B)
	The system has one unique solution
	D)
	The system has infinite solutions


4. Susan has a collection of old comics.  Her collection is valued at $300 and increases by 10% every year.  Which of the following rules best describes this situation?  (
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: # years passed, 
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: $ value of collection)
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5. An internet service provider offers their clients the following package:

· Membership fee of $5 which includes the first hour of usage (or any part of the first hour)

· An additional fee of $0.50 for every additional hour (or any part of the additional hour)

Which of the following tables best describes this situation?

	A)
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	C)
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	B)
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	D)
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6. A football team practices during the week and plays games on weekends.  The following system describes the relationship between the number of practices (
[image: image24.wmf]x

) and the number of games they play (
[image: image25.wmf]y

).
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Which of the following statements best represent this system of equation?

	A)
	· there are 10 more practices than games

· there are twice as many games as practices
	C)
	· there are 10 more games than practices

· there are twice as many practices as games

	
	
	
	

	B)
	· there are 10 more practices than games

· there are twice as many practices as games
	D)
	· there are 10 more games than practices

· there are twice as many games as practices


7. The following graph represents the relation between the level a player reaches and the points scored in a video game.
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Which of the following statements must be false?
	A)
	If your score is 0, you are at level 1.
	C)
	If your score is 6000 points, you are at level 3.

	
	
	
	

	B)
	If your score is 5000 points, you are at level 2 or 3
	D)
	If your score is higher than 7000 points, you are at level 5.


8. Consider the following system of equations.  Which of the graphs below best shows this system of equations?
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	A)
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	B)
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9. Zach loves to watch movies.  Last month, Zach rented 4 movies, went to the cinema 3 times, and spent a total of $37.50.  This month, Zach plans on spending a total of $57.50 by renting 5 movies and going to the cinema 5 times.  Which of the following best shows the costs of renting a movie and of going to the cinema?

	A)
	Renting cost is $2.00 for each movie

Cinema tickets is $9.50 each
	C)
	Renting cost is $3.50 for each movie

Cinema tickets is $8.00 each

	
	
	
	

	B)
	Renting cost is $2.50 for each movie

Cinema tickets is $9.00 each
	D)
	Renting cost is $3.00 for each movie

Cinema tickets is $8.50 each


10. Which of the following is the solution for the given system of equations?
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11. After comparing the cost of snow removal with two contractors, Mr. Kharyati constructed the graph below.
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In analyzing the graph, he made the following conclusions:
1) For 5 snow removals, contractor B charges more than contractor A.

2) For 5 snow removals, the difference in snow-removal costs between contractor A and contractor B is $100.

3) For 10 snow removals, both contractors charge the same amount.

Which of Mr. Kharyati’s conclusions are true?
	A)
	1 and 2 only
	C)
	1 and 3 only

	
	
	
	

	B)
	2 and 3 only
	D)
	1, 2 and 3


12. Four pairs of triangles are illustrated below.
	1)
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Which pairs of triangles are necessarily similar?
	A)
	1 and 3
	C)
	2 and 3

	B)
	1 and 4
	D)
	2 and 4


13. In the right triangle DEF, angle D measures 40° and side DE measures 60 cm. 
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What is the measure of side 
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, to the nearest hundredth cm?

	A)
	71.51 cm
	C)
	45.96 cm

	B)
	50.35 cm
	D)
	38.57 cm
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